
$N.lHq: !n!!$ 1-

v6t
rev

tro'.rl![s,s f 
2,.8 I r-t

\._Jx - [ z.z**zK
Al L z*:L ;ct[
ori ttw-luinn br e- \qN I

tc = r-('t'tA : td = \( cz+:c) 3 z **'6 (lt+p
aa\ "\ eqch eJn- t,*, o.)oove

:Lt\tZ = KLltz) tKLz+:t) tKC)L+?J
Itt'{:z = \( f't*,tz-t)Ltr-f-)]
Q,*ffi = zK :ttt;{i=1

K__ LZ \otte p\\ve

ro

\6\J tnLNT

Wajid Ali
Typewritten Text
Paper-4: Maths & Stats.
FDN/4/BMS/2008/T-1

Wajid Ali
Typewritten Text



20 lrirutq , \exuq oY\R (\t\ \ e
\i"rLo\ '.*&\ u( 

eg.u\,$ercr\
t*w$es q 1s\r$r$"qq\ch 1s\r^S

t" \t-e ,",.$ar, \/

L& ar\r oS \Nx*qone ,=- (\
: , i\ olsr 

"urN tl ",.L.S *_uu\n A
{
NS*tu. "S ( e5u*L As

'K€&
+

- (Iecl"

36
6.rn

hu*g onQ

2ct=
(,=

T
tQt

J

":,w\en \\$LY', \s .rrr.\J ta \oxrn slhere *\nut \o\urrzQ

A s\,\txe t b\cKqte..1u o\.

b.* 'r \e- $te vuN\ur ,,.$ shhtxe

;, \u\, S bl.e\(= Vc\, "SsPhtre

\ S t'{,1 Kh4 c t x7ry 
3

q{'3r-
),(xqr {frxz c K@u37+

\e= qx3x qqxt
X : ?x3 >2 \ctl't

lctC\ us .S s Yhere : 2\ cyn

:futr

t"*fVS.",c\ srte * 6crn
.'. 1l**&.r = 6c\ = 6x6 --36r\Y)

?G



?E# '$\q* hE to-Cinoie d po\r$ \s Crt,t)

cx-3\-r S-f t 1,r*s-f1 [t-.,f _r6
=> r&r1-E4t t'+ f1 \+dt)'= 3 6

-) f +f-!= c

=) ^,it;-: t
sb, *\r \rcuE \p,\ \e q" c\xc\e oS vo&i'* 3 L tt"$ev C0 ro3

".ro&,o* 
.S c\mr\g \Ne'n )C',t t'* Z:t *z 

) .. 3 E : O
corrfrUtt'e \\ \rr 

1=*o\ kwrL d cirt\e
.3t1'* )t)L r 2tt +C = (J

?=_, , {;-t
: c*n\"\ (.?,_\) = Cf,f)

c"r.\"{ d c{.tle G,_ +)

'; e-rn .E trvt\e &-hf- s-x)'= \- rcvr,r.)

(c-rf1 t't+ +f : 26

,.1 *-4>t tltte nSd -26 =O
*-> x'r','- *x*Bt - G .?* o

Ttr5 , q)n c,S u$ rir r\e

..dqJ



W 0 \tvn
x+o

= \tu'
)b) s

= ltvn
t-) D

= hyyl

It-.1O

)e= g-

)t+2
"LL)t-z
)r+z

\tvrn

)t4 -zlL

.5,kjfL2.{GrtJE.
et JIrx * {-rx-

(.J r +t t".l-r-l) . :t
'>ld

/ lrllr* + fi*)
=.2 __

t+l."It"ro + ,il -o
lN*

.=, \irnn

1.-) - 2

= \iv''n

)L-)- z

: lt'Yn

I-)-)

@>q
)L* L

+
Nns

C a= 
J,. 

(:,lt+fU464

l'\F fr}++ = t
[iff.rr.,x.t )C

(,t: *&l
&rt

l,Nru - -&\
6

r = (r,_ur
J6

1?= -.r-: +Ctx6 '

l.%= J 1c.6
/,-, - =a$= LSttr/ + Lq6

s'o\ r,t

---

e
a = ,l 

.t\rXr &:r

tLl t\ *- \:t\u6rr &.r.
tlr\ q$tlh"? ILAft r,.tttot\

r Intur H*\.u")h
htre- !=\sBx rI=)L

)[

il^).&rr

?L

\o61 -e
( o)n



66)z
^G4

ex ?t-Ytes
//

Frh,- ?r E Cr\hKl
sF (trrjt-fv bftIft

oY\ \i.lu{e\ = [t \25
/r ,rlorll* = ti u b

luXq\ -j t=r \B 0
&tt\", tU,\.N gutr$s " 

(s 6 5

rrN.nf ,rf.\ro\ttfr r= R s ZO
To\q\ 

- 

= (r 5o C-,

s€ t.ttr\
\Asc\see - It,9 x\'40 c' a6 ''/'

0 boD
ftqbeirtAir= 

+P" x\o rr -- 227'

\q,xc t -- 1?q 1\o D -* 36'l'
,ac

&r\*\J*\q,ir*{s= # x to o = t 3 7'

oN*rrr.r\x'hv'n -' +k x Io0 = +7 '

{L\to} \'f, co.r.gqov,fu; t\ 3,6o J 'o ts^6'6e(\"Mt st"\*

\]L\ts z z5 X 3'6 = 10 "

*"\.1\|h = L'Lx?'6- = la'Z^o 
o

{ercs = 36 x?'( :\2 q ' 6

3.=\"\")*\- L3 X3'6" = Y{' 6"

oNwn,t's"\,w = f;'3'6 : \+ ,4"

dror\6" &Y..)

r\ {

\ 
"bls

: _ _ *ra ?ir" :_\

\?7

t

TAX 367"



50
:* ltwKs Nt , e* r\;* Aev$s

5
3

15
18

ZO

\"oe.5urr.T &,s\nL,,hUrr d

t0rurKs St'r&en\. L$)

Ltsr $nrrn \0
/7 /7 ZO
, )t 30
/1 t7 +O
-/7 /7 50

o* \D
\O *7O
7a*3O
3o *+O
*a *5o

g z?t)

rnt&tqyt = lNt'e

we\rrrrt

\'-- )C

5
+
6
3

Z

C= \-s)

C= \6-1J

c B-ls)
L= >o -rt )

&"\q

c.s
5
a
15
\B
70

s N- $r \tr*r = utN" {
')"

c\us =(zo-30)
, \r=30 , {* -a

39qn =2*
\0 $, {etrUl

6,)j=L
\0 , c= 3

\30
6

\o
6




